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2019/Jan Braindump2go 300-360 Exam Dumpswith PDF and VCE New Updated Today! Following are some new 300-360
Real Exam Questions:] 1.]2019 L atest 300-360 Exam Dumps (VCE & PDF) Instant Download:
https.//www.braindump2go.com/300-360.html2.|2019 L atest 300-360 Exam Questions & Answers Download:
https.//drive.google.com/drive/folder §0B75b5xY L jSSNaFhj Tjl4UkOtbDg?usp=sharingQUESTION 122An engineer is
preparing for an active site survey of awarehouse and isinformed that they should not enter any areas that are blocked by supplies
that are difficult to move. Which option describes how the engineer should address this restriction?A.  Utilize a predictive tool to
define coverage in off-limitsareas.B.  Educate the customer about the importance of accurate and complete measurementsC.
Extrapolate restricted access areas by drawing circlesfor AP coverage.D. Survey hallways, common areas, and storerooms.
Answer: AQUESTION 123Which description of the ideal VOWLAN designistrue?A. smaller cellswith all datarates enabled to
ensure that al clients can associateB. larger cells with higher data rates enabled and WPA 2 to secure voice conversationsC.
smaller cells with higher data rates enabled and admission control enabled through WMMD. smaller cells with higher data rates
enabled and no overlap to prevent co-channel interferenceAnswer: CQUESTION 124A wireless engineer is hired to troubleshoot
wireless network issues and discovers that the customer is using 802 11 ac access points with 80 MHz-wide channelsin a
high-density environment.Which solution addresses these issues?A. Disable RRM on the WLC.B. Disable TPC on the WLCC.
Decrease the channel width.D. Increase the minimum data rate supportedAnswer: CQUESTION 125A customer has determined
that a cable run for alow-throughput RF design is not economically feasible to install.Which two access point modes can alleviate
these customer concerns? (Choosetwo.)A. bridgeB. snifferC. Flex+BridgeD. FlexConnectE. locaAnswer: AD
QUESTION 126An engineer is concerned with the compliance guidelines for human exposure to arooftop RF transmitter that has
been recently installed.What regulation should be reviewed to ensure proper certification?A. OSHA 1910.97B. FCC QET
Bulletin 65C. NFPSArticle 810D. SCEE Section 28.1Answer: BExplanation:Evaluating Compliance With FCC Guidelines for
Human Exposure to Radio frequency Electromagnetic Fields; Thisrevised OET Bulletin 65 has been prepared
https.//www.fcc.gov/gener al/oet-bulletins-lineQUESTION 127Y ou must redesign an existing wireless network that spans multiple
floors to support location-based services.Where do you install the access points?A. inthe elevatorsB. in the perimeter of each
floorC. inthe stairwells of each floorD. in the center of each floorAnswer: BExplanation:In alocation-ready design, it is
important to ensure that access points are not solely clustered in the interior and toward the center of floors. Rather, perimeter access
points should complement access points located within floor interior areas. In addition, access points should be placed in each of the
four corners of the floor, and at any other corners that are encountered along the floor perimeter. These perimeter access points play
avital role in ensuring good location fidelity within the areas they encircle, and in some cases may participate in the provisioning of
general voice or data coverage as well

https://www.cisco.com/c/en/us/td/docs/solutions/Enter prise/M obility/WiFiL BS-DG/wifich5.htmIQUESTION 128Y ou are
designing a wireless mesh network for an oil refinery. What is the Cisco-recommended model of a Cisco Aironet 1550 Series
Outdoor Access Point for thislocation?A.  1552IB. 1552CUC. 1552ED. 1552HAnswer: DExplanation:Cisco Aironet 1552H
Access PointThis ruggedized, outdoor, 802.11n access point is suitable for generic hazardous environments, and does not require a
wireless sensor network.https://www.cisco.com/c/en/us/products/wir eless/air onet-1550-series/index.htmIQUESTION 129A
company has deployed a centralized wireless architecture a their headquarters. In this type of deployment, to which network layer do
you recommend that the WLC connect?A. distribution layerB. Data center layerC. session layerD. accesslayerAnswer: A
QUESTION 130Which three parameters are used by Cisco Prime Infrastructure to generate heat maps? (Choose three.)A. the
RSSI prediction modelB. the AP SNRC. the bandwidth utilizationD. the AP transmit powerE. the antenna orientationF. the
number of associated clientsAnswer: ADEExplanation:An RF heatmap is a graphical representation of RF wireless data where the
values taken by variables are represented in maps as colors. The current heatmap is computed based on the RSSI prediction model,
Antenna Orientation, and AP transmit power.

https://www.cisco.com/c/en/us/td/docs/net._mgmt/prime/infrastructur e/3-O/user /guide/pi_ug/wireless-map s.htmIQUESTION
131An engineer has performed a post-deployment site survey and noticed that access points were installed in suboptimal locations
due to physical restrictions and obstacles. Which action must the engineer take to resolve this deployment issue?A. Set DCA
Channel Assignment Method to freeze.B.  Set al Auto RE parameters to factory defaultC.  Set TPC maximum and minimum
power levels.D. Set static channels on all AP radios.Answer: CExplanation: Suspect poor coverage/not enough AP density -- If AP
transmit power is aready at the maximum, you can enable the lower data rates to allow clients to connect from farther away. This
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has a negative impact on performance, but it can help the customer understand that additional APs might be necessary.
https:.//www.cisco.com/c/en/us/suppor t/docs/wir el ess/5500-ser ies-wir el ess-controller §/116057-site-sur vey
-guidelines-wlan-00.ntmIQUESTION 132An engineer is deploying outdoor Cisco Aironet 1500 Series Access Points and wants to
protect the network from overvoltage transients.Which two protection methods must be used? (Choose two)A.  lightning arrestorB.
grounding lugC. antennadiversityD. temperature controlE. PoE outputAnswer: ABExplanation:
https://www.cisco.com/c/en/ustd/docs/wir eless/access point/1550/installation/guide/1550hig/1550 ch2.h tml
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